
ITEM STANDARD MTL. DWG. #

HIGH CHROME

A532 CL III TP. A D1018

A532 CL III TP. A C1048

A532 CL III TP. A D1072

ASTM A276 TYPE 316 B1108

ASTM A276 TYPE 316 C1400

ASTM A564 Gr.630 (17-4 PH) B1119

901.1 316SS/A4/70

901.2 316SS/A4/70

901.3 ASTM A564 Gr.630 (17-4 PH)

901.4 316SS/A4/70

PTFE

073.1 PTFE B1122

073.2 PTFE B1125

PTFE

073.3 PTFE B1131

A532 CL III TP. A B1086

ASTM A564 Gr.630 (17-4 PH) B1105

ASTM A564 Gr.630 (17-4 PH) B1155

VITON

104.1 VITON

104.2 VITON

VITON

104.3 VITON

316SS/A4/70

VULCAN PUMPS - HDS 75M-A   (HIGH CHROME WET END / MEDIUM PRESSURE HYDRAULIC / 3 INCH DISCHARGE / AGITATOR)

ITEM ITEM PART NUMBER QTY.

LIQUID END 340mm IMP HDS 75M

DESCRIPTION EXT. DESC.1 US

100 100.1228.03013.XX 1

701  

CASING VOLUTE HDS 75M

200 200.1228.03043.XX 1

DEFLECTOR IMPELLER FRAME 250TY / 320TYS

IMPELLER RH, 4V, 340mm VTD RH, 4V, 13.38" VTD

009 009.1228.03095.XX 1

233 233.1051.03073.XX 1

COVER SUCTION HDS 75M

040 040.2229.03213.XX 1

STAND PUMP HDS 75M

032 032.2228.03264.XX 1

FASTENER SCREW 5/8"-11 X 1-3/4" SHCS

KEY DRIVE FRAME 250TY / 320TYS

901.2334.03334.XX 6

901.2334.03283.XX 8

FASTENER SCREW 5/8"-11 X 2" SHCS

901.2255.03296.XX 1

KIT, GASKET FRAME 250TY / 320TYS

FASTENER SCREW  5/8"-11 X 1.50"

901.2334.03293.XX 14

1

FASTENER WASHER 5/8" LOCKWASHER

903.1 903.2000.03343 1

GASKET IMPELLER FRAME 250TY / 320TYS

1

GASKET SUCTION HDS 75M

GASKET DEFLECTOR FRAME 250TY / 320TYS

903.2 903.2000.03356 1 KIT, GASKET HDS 75M

4

AGITATOR ROTATING HDS 75M

ADAPTER SHAFT FRAME 250TY / 320TYS071 071.2259.03187.XX 1

260 260.1228.03127.XX 1

EXTENSION SHAFT

904.2000.03389 1

O-RING 16 x 1.5

HDS 75M

904.1 904.2000.03386 1

258 258.2259.03181.XX 1

KIT, O-RING

1

KIT, O-RING904.2

O-RING 58 x 1.5

1

Document A1205 (Rev. 3) Date 2-8-22

901.7 901.2334.03309-XX 1

1

FASTENER WASHER 5/8" NORD LOCK

O-RING 32 x 3

·,·,

MATERIAL CODES:
00: 28% CHROME IRON 
01: 316 SS   
02: CD4MCuN 
03: ALLOY 20
04: HASTELLOY C
05: 2205 DUPLEX STAINLESS STEEL
06: 2507 SUPER DUPLEX STAINLESS STEEL  
07: 17-4PH ASTM A564 Gr.630



4

2-25-22

HDS 75M-A

1205

(AGITATOR)


	A1205 (Rev3) HDS 75M-A
	DWG. A1205 Rev 4 HDS 75M-A.pdf
	Keystone 50L BOM's
	707.2000.03552

	A1175 DWG




